Ml & 0l & AH S H Al A
20188 =0k LEHSIH BRI Al
FA BHREAL
I HY2FYI(FMEAID
ol Jl= 2| (E42): )
SA - B - S9I(E) - RAY - BaS ol b HIDZS2
M Al 22,384,587 30,404,019 /8,019,432
= 1,231,406
N 2,653,018
[ 1,383,383
z 17,116,780
HH2I B (FHEAID) 37,460 33,620 3,840
J1=23d 37,460 33,620 3,840
=&l 37,460 33,620 3,840
201 =] 24,500 22,820 1,680
01 AFR2te|d| 20,500 18,820 1,680
Oget+SH| 14,500
IEANRESFY 100,000 25921 2,500
OAFRIII] & SASS 11,000,000 11,000
0J1Et=E8| 1,000,000& 1,000
OSH(ZMEAI L LR F)
8,000 +2521x304 6,000
02 E=5=24H| 4,000 4,000 0
03322 ¥ HAl 4,000
0RER=s S 4,000,000& 4,000
202 04| 12,960 10,800 2,160
01 =LHO4HI 12,960 10,800 2,160
Ozelobl(ss31) 180, 00036 &f*122 12,960
HY XX 2S (M AL 4,200 4,200 0
SEMEREZE 4,200 4,200 0
elEEa3l 4,200 4,200 0
203 =8| 4,200 4,200 0
4 FAEZER =L 4,200 4,200 0
ORNSYYLEX 350,0002/%122 4,200
KSZH 283t 296,840 230,990 65,850
& 5,900
z 290,940
NN ey 281,840 215,990 65,850
S 700
= 281,140
XSEN gdst =4 280,340 14,590 65,750
201 =] 37,940 29,790 8,150
01 AFR2te|Y| 11,340 11,790 A450
Oggt-=d| 500
0EAHBNWE EE2= 21,0002 *5000K 500
Oger=gH| 7,000
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SA:

ZHS AL

g NSBH gdst
=Rl ASBNEdst (et &)
% - (5]
SA - HH - S9I(3H) - MIRAY - BES Ol S HIDS
O ST QI 1403%50,0000K 7,000
SEH(NABMERFE)  8,0002+621+804] 3,840
03 A= 26,600 18,000 8,600
OZ=2Atel ¢ etlits 8% 20,000,000& 20,000
OHES0| B2 ALY, =4)
3,300,000 *23] 6,600
202 04l 14,400 16,800 A2,400
01 =LHO4HI 14,400 16,800 A2,400
OOHI(XISZNSR4)  200,0008+62!x12 14,400
203 =8| 2,000 2,000 0
03 A=A =AY 2,000 2,000 0
ONGBNgdat=d 2,000,000& 2,000
01 et2a= 6,000 6,000 0
09 AHAIHIEA S 6,000 6,000 0
OXSZNEdst =& 2tes| &4
0,0002*2521%23] 1,000
OROIMNARA 7 A &A
20,000&3*25E %102 5,000
306 EHS 100,000 0 100,000
01 283 100,000 0 100,000
Ot EESMHE == 100,000,000 100,000
308 MRIHHISOIH 120,000 160,000 /40,000
nJIeRg= 120,000 160,000 /40,000
OXIAA HEXJA 120,000,000 120,000
RS = DN M, 1,500 1,400 100
S 700
z 800
201 =] 1,500 1,400 100
S 700
z 800
01 AFR2te|Y| 1,500 1,400 100
OFAY FMuSAE 1,500,000& 1,500
S 700
z 800
RSV Falgss Eoay 2,400 2,400 0
S 400
z 2,000
SHSHeEAS A 2,400 2,400 0
S 400
z 2,000
402 BlZtAtE0lA 2,400 2,400 0
S 400
z 2,000
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S ZHZAILD
3 NSZH 2435

ol FS 0 AASA (=CRE )
% - (5]
S - FE - SRI(E) - HRAR - BaES ol &k S B2t
02 QIZFXH2 A 2 (01 M THE) 2,400 2,400 0
O3UBMY EHeds XA
2,400,000 * 100 2 2,400
< 400
i 2,000
AHIER & STkl 12,600 12,600 0
o= 4,800
i 7,800
SItotE X&s2el 7,800 7,800 0
101 21248| 6,000 6,000 0
04 JIRIH2Z2EE S 6,000 6,000 0
O=Z2Jt BLIHRE 21248|
250,000& #2021 x 123 6,000
201 LBH2AL| 1,800 1,800 0
01 A2teld| 1,800 1,800 0
Oger23Ay| 1,100
021t 22= 0l 3002 *2&+5000H 300
0&ebt3gAs 222 ME 800,000 800
osg+g 700
0SOHHHRARA e &S
70,000&*1021x13] 700
E SHELHE2Y 4,800 4,800 0
o= 4,800
101 1248| 4,800 4,800 0
o= 4,800
04 JIRIH2Z2HEE S 4,800 4,800 0
Ok SIIZLIHRA 2124d] XA
200,000&*12&*20! 4,800
o= 4,800
OIUX &N & S5 A 385,287 128,300 256,987
= 82,326
o= 13,800
o 289, 161
KNSR 22 385,287 128,300 256,987
= 82,326
o= 13,800
o 289, 161
NSUHE X 22l 6,060 300 5,760
201 LBH2AL| 6,060 300 5,760
01 A:2teld| 6,060 300 5,760
OUIUXl 2 222 MZ 300,000 300
OHEI| ZIIZAL QHHS =2 HIZ
60,0002 *110H 660
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A ZEREAID
F=E= BNV [E DNRSIFSIR= = r= ) F

=l NFH0IHA 2t (et &)
= = L5
SA - BB BRI(3) - IRAY - BES ofles e HIDZ
OAHEIIFIIEA 2E-&HES M=
150 %25+1,0000H 300
OAHZI| FIIEAL 2| Sx 400,000~ 12& 4,800
NS JHAEAEE EgAY 27,600 30,000 22,400
[ 13,800
= 13,800
403 NRIHISAH=01A 27,600 30,000 A2,400
[ 13,800
= 13,800
02 S| 2SO A2X S A 27,600 30,000 22,400
OJIAEISEE(NSIUHEX]) 2SAY
50,0002 %5520+ 27,600
[ 13,800
= 13,800
NRIE JtAAE JHEA 102,907 98,000 4,907
= 82,326
= 20,581
403 NRIHISAH=01A 102,907 98,000 4,907
= 82,326
= 20,581
02 S| 2SO A2H 2EAI 102,907 98,000 4,907
OAMBRIE JIAAIEINS Ar 102,907,000 102,907
= 82,326
= 20,581
NRIZE JHAAIE JHE AR (KHA) 208,320 0 208,320
403 AXIEHSA=01E 208,320 0 208,320
02 S| 2SO A2H 2EAIH] 208,320 0 208,320
OJAAIE (SE2H) DA KA
240,000 868t 208,320
NEIE JtAEIYEE SZARI(XHA) 40,400 0 40,400
403 AXIEHSA=01E 40,400 0 40,400
02 S|S0 A2H 2EAIH 40,400 0 40,400
OIAEILWE (tATISIUHHEI]) ES ALY
50,0002 +808I+= 40,400
dEAFEZ 2 95,220 729,780 634,560
[ 10,000
= 85,220
dSAE2CZY 95,220 729,780 634,560
[ 10,000
= 85,220
HSANE =2 45,220 9,780 35,440
101 2| 4,820 3,860 960
04 JIZtMI22NESE s 4,820 3,860 960
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H: MSAZ2YL
o FSAFPRI2Y (E42): )
S - B - SRI(3) - HISAR - BaS Ol b HIDE2
ORSNZLEHTS 09y
7,530 2148 A1 2h 1015802 4,820
201 Y2 oy| 9,800 5,920 3,880
2 3322l 9,800 5,920 3,880
0223 2 HAl 4,800
OAIESIFA MIIATAER
50, 00024870 A+ 122 4,800
OAIEZHIS LI 5,000
SENEES RS 500, 00021%57H 4 2,500
MBI KR4 500, 00021%57H 4 2,500
01 YhBAZ 30,600 0 30,600
11 JIEF2ArS 30,600 0 30,600
OBITISHAIZ ZIR| AlHI 24 30,600
OSHSIAIZ 550,0002!%122 6,600
OM 231 H = ALEHHAI T
500, 0002474 A # 122 24,000
HEAF DXIE0IE ALY 50,000 0 50,000
= 10,000
2 40,000
201 Yer2oy| 50,000 0 50,000
= 10,000
2 40,000
03 #A2 S| 50,000 0 50,000
OFEAIF XIS At 50,000, 000! 50,000
= 10,000
2 40,000
SNRX B85 96,600 905,000 808,400
= 60,000
2 36,600
SXRA X2 96,600 905,000 808,400
= 60,000
2 36,600
DY NBEEZ XA 30,000 21,000 9,000
= 15,000
2 15,000
307 QI2F0IF 30,000 21,000 9,000
= 15,000
2 15,000
02 BIRIBAAIBE 30,000 21,000 9,000
OFIIY ARDBI BX3 X3
30,000,000 30,000
= 15,000
2 15,000
AR JIHEY A 45,000 200,000 155,000
= 45,000
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SA:

X XH -
oS-

d, 22X SXsd

CHol: LHAIQIS AloCH (Srel: &)
% - (5]
SA - HH - S9I(3H) - MIRAY - BES Ol S HIDS
= 11,480
z 17,219
2XteME 2 (XHH) 4,367 0 4,367
101 QI24H| 4,367 0 4,367
CAPAEADN SN S b 4,367 0 4,367
O2016-2017& HHLHAL EIX= 4,367,000 4,367
HHE HEHE W= X 10,000 9,000 1,000
& 5,000
z 5,000
201 Ler=g| 10,000 9,000 1,000
& 5,000
z 5,000
03 A= 10,000 9,000 1,000
OdsgE MHssdal 30 10,000,000 13 10,000
& 5,000
z 5,000
KNEESH LAEIAL 151,600 240,381 88,781
N 75,800
S 22,740
z 53,060
01 2124H| 146,600 235,381 88,781
N 73,300
& 21,990
z 51,310
CAPAEADN S INES b 146,600 235,381 88,781
ONSSSHEACIAIY 214H] 146,600,000 146,600
N 73,300
& 21,990
z 51,310
206 MH=H| 5,000 5,000 0
N 2,500
S 750
z 1,750
01 =8l 5,000 5,000 0
OXNSZSHLReIA i 5,000,000 5,000
N 2,500
S 750
z 1,750
SMARIEH LI EE) At 650,000 0 650,000
101 QI24H| 639,000 0 639,000
CAPAEADN IS INES b 639,000 0 639,000
O=AMAIAESH(LXI2IEE) A 639,000,000 639,000
206 MH=H| 11,000 0 11,000
01 =8l 11,000 0 11,000

- 475 -




2A:

A
o
08 =X Y o, 22X =X

gﬁ: [
Sl LJAIQLs AT (E42): )
% = SIE
SA - HH - S9I(3H) - MIRAY - BES Ol S HIDS
|| O=MAIB(LXeIZE) Al 11,000,002 11,000
S322AH 500,000 405,000 95,000
NAHEZSZ2AHY 500,000 405,000 95,000
101 21248| 500,000 405,000 95,000
04 JIRIH22 R EE 500,000 405,000 95,000
OB32=Z2Atg elzid| 500,000,000& 500,000
A EI Y SHAH 105,454 136,986 231,532
Xl 77,818
o= 8,291
i 19,345
MDY SR (LREIEE) 80,000 80,000 0
Xl 60,000
o= 6,000
i 14,000
307 GIZto| 80,000 80,000 0
Xl 60,000
o= 6,000
i 14,000
03 SI”HAHEE 22X 80,000 80,000 0
OAMBIEDIY ST (LXIHE
80,000,000& 80,000
Xl 60,000
o= 6,000
i 14,000
MEZII AZ2EE KA 25,454 25,454 0
Xl 17,818
o= 2,291
i 5,345
307 @I2+0|: 25,454 25,454 0
Xl 17,818
o= 2,291
i 5,345
IR T EES 25,454 25,454 0
OMBIRIIY Al 2E B XIRAI
25,454,000 25,454
Xl 17,818
o= 2,291
i 5,345
FHerd & =N 3,717,594 2,390,860 1,326,734
= 1,087,080
o= 218,439
i 2,412,075
sHE =HEZENE 2,063,740 1,131,970 931,770
= 9,500
< 23,742
i 2,030,498
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SA:

ZHS AL

[ FHE L FHEANA
SRl S0E FHEZNH (9 &A)
< e
2A - - HA(ZH) - NIRAY - BES Off &kl %E& Hns2
NIl AFHY MHIANISD 23,300 24,570 1,270
201 YeHRHH| 10,700 6,970 3,730
01 AfR22l] 9,380 5,770 3.610
OSHH(JSZAZHLFTE 24)
8,00021%401+804! 2,560
OAZYR JISSE ARME  120,00024+52 600
OASLH LB2HI(EH, CIXIXIR)
200,000 200
OA=YE BLLY 70,00024%2501%23| 3,500
OSSFH2UXALPIAE M4
70,0002 +8% 23 1,120
OBSTYRSYTYLIAS| Fa4 Y
70,0002 *10%*23] 1,400
02 SZ2E 1,320 1,200 120
Oxtsliore &1 60,0002 *122 720
OazxsEE ®IIQ3 50,0002 * 122 600
202 Oit| 9,600 9,600 0
01 =LHo 9,600 9,600 0
OHI(ZBH-EAEL 248)
200,00024#401x 122 9,600
401 AlEHIZ SOHYI 3,000 8,000 A5,000
01 AlZH] 3,000 8,000 5,000
OXaIZd 2L 3,000,000 3,000
HAFEHTZHLOMER 201,440 553,960 352,520
401 AlEHIZ SOHYI 201,440 553,960 352,520
01 AlZH] 200,000 550,000 350,000
OMAFEUCIX| IIBIAIL KIRAKY
200,000,000 200,000
03 Al&=0HH 1,440 3,960 2,520
OXPAFTECHI] JIBHAIA KIRIAK ORI
200,000,00024%0.72% 1,440
IZI=H| A} 23,000 27,000 24,000
& 6.900
2 16,100
402 IEXHRO0IH 23,000 27,000 4,000
& 6.900
2 16,100
02 QIERHE ALY B (01 M AHE) 23,000 27,000 4,000
ORIZEHIAIY 23,000,000 23,000
& 6.900
2 16,100
XISH2 XA 46,640 50,830 4,240
& 13,92
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2A: RS AID
B FEHOE U FHEHINA
Sel SO{E EHEANA (E42): )
% - (5]
A - ZH - S9I(B) - HIRA - BES il &k S HmEST
o 32,648
402 QI2EXHE0IHE 46,640 50,830 A4, 240
o= 13,992
= 32,648
02 QIR AL S (01X TH ) 46,640 50,830 A4, 240
O == XSHEAS 46,640,000 46,640
o= 13,992
= 32,648
A =2 A2 JHIAY 50,360 50,360 0
401 AlEHIZ 20| 50,360 50,360 0
01 Al&dl 50,000 50,000 0
OJA =222 A2 EHIAHY
5,000,000&*10= 50,000
03 AIE=20HHI 360 360 0
OJIA =222 A= EUIAIY 20l
50,000,000&*0.72% 360
SSU=E A 1,500,000 300,000 1,200,000
403 XX SHHISK20]& 1,500,000 300,000 1,200,000
02 SIS =2E 2AE AL 1,500,000 300,000 1,200,000
OBIYFE ABYAY BX3
1,500,000,000& 1,500,000
s0HE Z0HQI==E =AY 19,000 15,200 3,800
= 9,500
o= 2,850
= 6,650
402 2IZERHE01H 19,000 15,200 3,800
= 9,500
o= 2,850
= 6,650
03 2IHRE AL 19,000 0 19,000
OsHE ZO0HQI==E4 =AM
3,800,000& *5Jt+ 19,000
= 9,500
o= 2,850
= 6,650
A2 BSFE XSAIS (KHIAY) 200,000 0 200,000
402 2IZERHE01H 200,000 0 200,000
01 QIR AN S 2 (XEMITH ) 200,000 0 200,000
OA72 355 XZAIL (RHRAL)
200,000,000& 200,000
=HaWN 1,346,974 1,206,910 140,064
= 1,077,580
o= 134,697
= 134,697
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M FRSAI
M Y E FAHSZON
SRS N (Er2l: &)
% - (5]
SH - B - SRI(3I) - NIRAR - BaS il arod S HmE=
2B =04 936,974 736,290 200,684
= 749,580
o= 93,697
= 93,697
301 LEt2as 936,974 736,290 200,684
= 749,580
o= 93,697
= 93,697
01 Al 2EH=0l= 936,974 736,290 200,684
OJI=FAHS0H=2X X200 (E23204)
936,974,000 936,974
= 749,580
o= 93,697
= 93,697
=7 =0 410,000 470,620 260,620
= 328,000
o= 41,000
= 41,000
308 MXIHHSOIE 410,000 0 410,000
= 328,000
o= 41,000
= 41,000
10 271 2SI HEHE & E S A 410,000 0 410,000
OI=FHE0H2 R SERXSH(EES0)
410,000,000 410,000
= 328,000
o= 41,000
= 41,000
Zsael 306,880 51,980 254,900
o= 60,000
= 246,880
Z2Ns2el2S 106,880 51,980 54,900
201 LBH2AL| 5,980 1,980 4,000
01 Ar2teld| 980 980 0
O=Zsac|oRds HdsE
70,0003 *7H*23] 980
02 2224l 5,000 1,000 4,000
OSAZDS(SSUAN AT, SE2H)KXI2e]
5,000,000 5,000
401 AlEHILSOHY] 100,900 50,000 50,900
01 Al&HI 100,000 49,550 50,450
OXENAIL & XZBZ0E 4% & ZHIAHY
100,000,000 100,000
03 Al&=0Hd| 900 450 450
OXENAIL & XZBZ0E 4% & ZHIAFY
S CHYI 100,000, 000&*0.9% 900
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e == ==Y\’
A FHE Y =HEZNH

cel: s (Sr9): &)
% - (5]
SH - B - SRI(3I) - NIRAR - BaS il &bt S HmE=
210l OIS0 el Z&A 200,000 0 200,000
o= 60,000
i 140,000
401 AlEHILSOHY] 200,000 0 200,000
o= 60,000
= 140,000
01 Al&HI 198,560 0 198,560
OZHE0| OS2l EAY
198,560,000 198,560
o= 60,000
i 138,560
03 Al&=0Hd| 1,440 0 1,440
OZHE0| OS2l ZEAY
200,000,000&*0.72% 1,440
SAIHE 22 212,360 425,210 A212,850
SAAHE & AYEZNE 212,360 425,210 A212,850
CAHEHR2E 58,160 65,710 AT7,550
201 ZeH=2E| 9,360 10,110 AT50
01 Ar2teld| 9,360 10,110 AT50
OZHE R & 70,0002 *1801x43] 5,040
O=H(SAIHEHRFE) 8,000& +321+804! 1,920
QdleE1= 1,200,000&*22] 2,400
202 Oid| 10,800 9,600 1,200
01 U AL 10,800 9,600 1,200
OOHI(SAIHER8)  200,0002+301+128 7,200
OzZ2e|HE Z2HUR EOHI(EHRH &)
100,000&*321+12& 3,600
308 AXIHHSOIA 20,000 10,000 10,000
1N JIEIRE= 20,000 10,000 10,000
OZAUS DB DKM RAI (TR E)
20,000,000& 20,000
401 AlEHILSOHY] 18,000 18,000 0
01 Al&HI 18,000 18,000 0
OZAl Atsd & dapluciesE HIIES
18,000,000& 18,000
2| HIE (HEHI) 20,200 0 20,200
401 AlEHILSOHY] 20,200 0 20,200
01 Al&HI 20,000 0 20,000
O20253 At 2l A= THEH|
20,000,000 * 14! 20,000
03 Al&=0Hd| 200 0 200
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2A: ZHEAID
S TAIHE 2R
ol SAIHE W ABT2IHA (Sl &)
A - B O9(3H) - NIRAR - BaS Ol &b e e
020253 stEZ2e|H = & S0HY|
200,000 200
SAAHEANE B L X2 100,000 101,000 A1,000
401 Al&BIZL20HY| 100,000 101,000 A1,000
01 Al&Hl 100,000 100,000 0
OZAIHEANE B 2 STZ2(SAIXS, =
HEX R/ HERA) 20,000,0002 *570 2 100,000
SAHEEEMAH 2= 34,000 37,000 A3,000
201 LEt2ZH| 34,000 37,000 A3,000
02 3523l 34,000 37,000 A3,000
OSAMHEEEMAH 3t At 19,000,000& 19,000
OZAHEEENH 28EH RA2#2ES
15,000,000& 15,000
SAINY 9,386, 160 18,371,789 28,985,629
Xl 2,499,400
o= 811,200
= 6,075,560
NEoHse SAIDIBEEA 6,083,160 9,436,360 A3,353,200
Xl 300,000
o= 500,000
= 5,283,160
SADHE AR A 57,160 32,560 24,600
201 LEt2ZH| 49,960 25,360 24,600
01 AtR2telt] 2,560 1,960 600
OSHI(ZAINL G RFE) 8,000 *421x804] 2,560
02 3523l 47,400 23,400 24,000
OZAHEEZ JI2s M)z
2,300,000&*1200& 27,600
Oetits3d Mg 300,000&*120H& 3,600
Ostiz3E =k= 300,000&+6HE 1,800
OZES4ER M= 300,000&*120H& 3,600
O=HE33 M= 300,000&*120H& 3,600
O=HEEE == 300,000& 12042 3,600
OXABE MI|IZ 300,000&*120H& 3,600
202 (44| 7,200 7,200 0
01 =LHOYI 7,200 7,200 0
OWBI(SADHEE R 43H) 150,000 %421+ 12& 7,200
SAIXASE EH| 26,000 14,800 11,200
301 LES A= 6,000 4,800 1,200
09 EAtAHIEA = 6,000 4,800 1,200
OSAHABSE S3EY L EAHSHl K&
37,5002 +40E*43) 6,000
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ZHS AL
SADHE

o NISIOSE SADIBIES
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SA - HH - S9I(3H) - MIRAY - BES Ol i HIDS
401 AIEHIZ R0 20,000 10,000 10,000
01 Al&HI 20,000 10,000 10,000
OMEBA(=HE, sHIS3¥) ddl-sA2
2l 20,000,000 * 14| 20,000
SAIAE 2 OHE 600,000 1,850,000 21,250,000
401 AIZHIZ R0 600,000 1,850,000 21,250,000
01 Al&HI 600,000 1,850,000 21,250,000
O2M SAHEEZ(2-154) HEZA
300,000,000 300,000
O2M SAHEEZ(3-55H) HEZA
300,000,000 300,000
CAHEEZHE(EX) 1,500,000 2,000,000 /500,000
= 500,000
= 1,000,000
401 AIZHIZ R0 1,500,000 2,000,000 /500,000
= 500,000
= 1,000,000
01 Al&HI 1,493,700 1,992,800 A499,100
OUECAHEEZ(378) HEBA
496,850,000 496,850
= 250,000
= 246,850
OAIEECAIHEEZ(2-465) HE AL
996,850,000 996,850
= 250,000
= 746,850
03 Al 20 6,300 7,200 A900
OAlZ= Y| 1,000,000,000&+0.63% 6,300
SAHEAE R 962,000 1,262,000 300,000
AEHIR S0 962,000 762,000 200,000
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